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Stores have boxes of candy (b),
_ Food 4 Less = 10b + 8p +20

Smith's Food = 5b + 6p +10

packages of candy (p), Candgz
Grant's Grocery = 3b+ 8

Food Mania = 12b +20p +25

and gingle candy bars.

Candy
A4 =
1. What is the combined inventory of 2. ' What is the difference in inventory
of Food Mania and Food 4 Less?

Food 4 Less and Smith’s Food?
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3. The district manager requires that Food 4 Less and Food Mania submit a report
containing an algebraic expression representing t ew;nventories of the two

stores,
a. Write the expresswn that represents the sum. of the inventories of the two stores.
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nimber of boxes, packages,

b. Write an equivaleft expression representing thg”
and candy bars for two stores. )
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4. Write two equivalent expre551ons to represent the(»_gi_ljfgrence in the inventories of
Food 4 Less and Smith’s Food. _
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5. What do you think it would mean to snmph n algebraic expression?
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Using the Distributive Property

7. A new food company, Diler Foods, g three Iocat|on /Where each location has
3 boxes, 8 packages, and 12 single

a. Write an expression for the company’s total inventory as a Eroduct Use b to

represent boxes and p to represe M&@g\

b. Now write an equivalent algebraic expression to represent the company’s total
inventory after

e
simplifying.
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Simplify each expression.

8, 3x + 5X
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9. 4xy - 2xy? + t°
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